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From the cor. of secs. 7,12,13 and 18.

| I run

| I find the =+ sec.cor.falling 35 lks, V. of my line.’

(@)
|

Tt is a basalt stone 15-1 ins. Set 10 ins. in the

| high and is 1.50 .chs. S. of

nessing mound of stone,2 ft.base,ly ft. high 7. of cor.

T find the cor. of secs. 1,6,7 and 12; falling 70 1%s

W. of my line. Tt is a basgalt stone 16-11-8 ins.;set.

and 1 notch on the N. edge. There is a witnessing mound

]\.x

| .of stone,2 ft.base,lz ft.high W.of cor,

n

Course of line bet. secs. 7 and 12 is N p°z0'w.”

N, pet. secs. 7 and 12; retracing the I. bdy. of the tp.

5
and mkd. =+ on the W.face. It is on top of a cliff 15 ft.
3> £

Rock creek. There is a wib-

10 ins. in the ground and marked with 5 notches on the S,

From the cor. of sees. 1,6,7 and 12.

T run

N. bet. secs., 1 and 6; retracing the line bet. secs.
and 6, on the E. bdy. of the tp.
T find the + sec. cor. falling 32 lks., W. of my line.

It is a basgalt stone 22,12,4 ins.; set 14 ins. in the

| ground -nd mkd. . on the 7. face. There is a witnessing

3 T

mound of stone 2 ft. base,ls ft. high W,of cor.

falling 66 lks. 7. of my line.

=~

% is a basalt stone 20-18-18 ins., set 14 ins. in th

ground for cor. of tps. 24 and 35 N., Rgs. 47 and 48 E

hrid

| "
mikd. with 6 notches on each of its N.,S.,E. and ¥. edges

and with a witnessing mound of stone,2 ft. base 13 ft
S, oL eor.

Course of line bet. secs. 1 and 6 is I 0°B&'w,”

June 12,1914,

1

T find the cor. of Tps. 34 and 35 N, Rgs. 47 and 48 E,

€

2
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